
Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Arithmétique des exposants entiers

2 − 2 = 9 + 7 =0

2 + 2 = 9 − 4 =3

(−5) − (−2) =3 (−9) − 3 =3

8 + (−5) =2 (−6) + (−5) =3

(−3) + (−3) =0 (−6) + (−4) =3

(−1) − 4 =2 (−7) + 3 =3

(−9) − (−9) =2 6 + 6 =3

10 − 7 =3 (−6) − 7 =2

(−3) + 10 =3 (−4) + 3 =3

3 − 9 =2 5 + (−4) =2
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Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Arithmétique des exposants entiers

2 − 2 = 0 9 + 7 = 80

2 + 2 = 4 9 − 4 = 7253

(−5) − (−2) = (−123)3 (−9) − 3 = (−732)3

8 + (−5) = 592 (−6) + (−5) = (−221)3

(−3) + (−3) = (−2)0 (−6) + (−4) = (−220)3

(−1) − 4 = (−3)2 (−7) + 3 = (−340)3

(−9) − (−9) = 902 6 + 6 = 2223

10 − 7 = 9933 (−6) − 7 = 292

(−3) + 10 = (−17)3 (−4) + 3 = (−61)3

3 − 9 = 02 5 + (−4) = 212
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